A ERRFERITHE
T, EEET AR

IR, DUERATHE = :L_ _\.

TR LRSS
ST B sy
ik, ESEHM 14,
)N

020,025 032 040, 050, 063,080, 0100

MEFRTIHH
mamal ii‘r%ﬂi)&%
;%ﬁ?ﬂ ]E H#ILP.657.
AB HAR 4112
AL|  miemEmn Iy
AF FEE 22 B ‘20 2o T AR Y
WE= 25| 25mm 5%) 45 ED-A9L], MOT IR B 14 7F 3¢ iy Ay 2
AG| FEfEEm 432| 32mm SEon
440| 40mm SEL{TFE(mm) AR FF3E(D-CTL] HTLI%)3 75
50| somm AT RS P.657. (EiES)
263 63mm $Tif MEFF AN
A ine AN
80| 80 o Figs| 24
4100 10022 B RIS 48 | 14
[*xizs] TRMFX(NERT) | n | o
SHRENET TS TR
TBE ARG METT 50 /Rt 77 3 1 by IR JLP.1524-1556,
- RRBE SEKEM) SHEREM |
; . Su3m (B me EAEE S48
| B el 05 (1|3 |5 B34 ey
AR || enw) DC AG 020~ 063 080,010 [(zae| vl ()l 2 [N | EE* | mama
CEEFE GRS
A -
SENPN) M9_NV M9N = oe@Ol-| O
5V 12V — 2 L] ® O O ICEI#
TN ) — : M9PV_| M9P = ® ®@@/O[-| O
=3 - = = G5P_ | @ - |[@|O[-| O
__ M9BV | AM9B = o @00 @)
24 12v — — K59 ® | -|®@O|—-| O -
ER = H7C = D ool -
% i 3% (NPN) 5V 12V — G39 — - -|®] - IC[E13%
iﬂa HER 2% 12V = K39 —|=l-|—-|®]| - -
2 ﬁr}wpm say [ MONWV [ moNw = elefe[0[-[ O »
s v 12V = = G5oW | @ |—[@[C[-] O | q,. #8%
i BHET 35 (PNP) : MOPWV | MOPW = o |@e/@[O]|-| O PLC
X | eegw - — = G5PW (@ [—|@O|-| O
HEHLR 2% 1oy MOBWV | AMOBW | — ® @e/@/O[-| O _
. = — K5oW | @ |- |@|O [@)
3% (NPN) “IMONAV| *MONA | — o [Olelo[-]©
kIR 35(PNP) 5v.12v “MOPAV[a*M9PA] — | O [O|@|O|—| o |
(eegF) 1 1ov “M9BAV| *'MIBA - Ol0|®@|O|—-| O _
£ = — |[*G5BA | @ |- |@|O|—| O
FolgHREETR) 4%; (NPN) 5V 12V = H7NF G59F [ ) @ O|— @) ICEIE&
3%
=1 sv - A%V | A% - o | -|® —|-| - |cmm|l -
e 700V | A93V | AA93 - e eele[—| — -
E % 100V | AS0V_| A90 = o —|(@[-[-| - [icEx®
i x| 100V,200V — 4AB54 e -0/ —| -
% —— B 200VIUT = B64 o -0 - - -
b 1 : 12v - = 4C73C - e —-00 = )
7 AR [E 2|2 VT | — [ csoc | - e [—|e|e — [icEm |#u#.
E3 e — — A33 — - =1T= _ PLC
| BLER | - A34 — | =1=1= — _
DINEEF £l 100V,200V = v — 11— =
VHETEEST) | mER - - - B59W o - - -
BRI RS RORMTI ., TREAE FRAT S, BRTHRIES BT,
ERKTRE T RN R EARA RS S,
2 K ETm{TE FD-A93,
HEGKFES 0.5m. LERS () MONW HH O S AR R M IAT S A
im. M (45]) MONWM D-A9[ V. M9V, MO JWVHIED-MO[JA(V) BIRT] %3,
3m. L (45]) MONWL 3D-A3[]. Ad4  G39. K39E I, TS (N)MBIESA KT,
Sm, Z (45]) MONWZ
7

(f5]) H7CN
B ERIEHBS SN, THHR bTﬁclﬁ%B‘]ﬁiﬂiﬁ;& # L7 ~(Best Pneumatics )56k 5 2-3 /1 55364 71 .
S LA B B T X I¥ P 1549,
JKD-A9C]. MO[]. MOIWEIBE FF AR B (RAHK). (ERBEMFFRRBFMHAREL . )

656




sz<a RHC %%

s
f14E(mm) 20 [ 25 [ 32 [ 40 [ 50 [ 63 | 80 [ 100
ERTE =]
PRIEM EN 1.5MPa
BaEREN 1.0MPa
BEEREN 0.05MPa MaQ
INERERERREEE —10~60°C (BR %% m
EREEEE 50~3000mm/s
Fih SEh RzQ
BARIKEER] 7 12 21 33 47 84 | 127 | 196
BREHITIE(mm) 80 80 80 80 80 80 80 80 MACM
e it F(Ret)
ERAS TREKERE ~1000st: *3*; 1001~1500st: *}® MM
BERK EAR hEMER ANEATM)EZE
1TIER
#fir: mm
#I{Z(mm) RMTIE(ER)E) TRETIEEY RAITEE
20 250 ~700 1500
25 250 ~700 1500
order| . 32 250 ~1000 1500
Fe WS 50 250 ~1200 1500
XC3 | OB L REH" 63 250 ~1200 1500
XC6 [ SEEiF. HFinBEHMRATENR 80 250 ~1400 1500
-XC93 | fif 7k 1R & + BRI 100 250 ~1500 1500

3{X020~0403¢ K7 ,
3OKIN032, 0403 RY .

EY) EERNTRUTOTR(-40STHTHIE, B TASINRRENTERK. B TRENIEE

THRE.
$32) BHRRTRNGE, ERIESEZMN.
REHRHEES
s EE 3
ERE  wm 20 25 32 40 50 63 80 | 100 iR
E) 020~040 . BEEXx2 2R ffx1
ha) D EE RHC-L020 | RHC-L025 | RHC-L032 | RHC-L040 | RHC-L050 | RHC-L063 | RHC-L080 | RHC-L100 050~0100. JIFEX2. o348 4Tx8. 25 L Ex8
b 1 RHC-F020 | RHC-F025 | RHC-F032 | RHC-F040 | RHC-F RHC-F RHC-F( RHC-F1 020-040 . 3 Zxt
= : : : : P50 | RHCFO6S | RHC-FOB0 | RHGFI00 | oot 0100, st st e, 25 20xd
) % AR E M,
ZAdE T S hF B
17, Ty
#Z"Z&—ﬁ [P }E]_T_E EgES
EEIN. REINSBASIER. 20 -
ZMAECERAE) LN 5BRSEMNEARGETRIFAE)ER. 10
2 M 5 R (RHCF40-500 £ 2 5k . 444 [ 10.5MPask F 3R 5h) Owt=a g
500 T T T Y I — ,/
LA T/ } §5 o/ 5 BRSE
00— of f——127 N
L] Y Y )) 2
E 300 g'gﬁ N/ "’@/ &\ !&
£ (/1 1/ P (
| / pd K 5“
) / g ))
100 I /’l somm/s__|_| =] 22
== L ,
10 20 10 20 25 32 40 50 63 80 100
B jal[s] E{E[mm]

657



RHC %5

| \ |
I N E N w—
BN
HE | AR | e | EEER R EN MPa
(mm) (mm) (mm?) 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
20 10 ouT 314 63 94 126 157 188 220 251 283 314
IN 236 47 71 94 118 142 165 189 212 236
o - ouT 491 98 147 196 246 295 344 393 442 491
IN 378 76 113 151 189 227 265 302 340 378
32 12 ouT 804 161 241 322 402 482 563 643 724 804
IN 691 138 207 276 346 415 484 553 622 691
m - ouT 1260 252 378 504 630 756 882 1010 1130 1260
IN 1060 212 318 424 530 636 742 848 954 1060
50 20 ouT 1960 392 588 784 980 1180 1370 1570 1760 1960
IN 1650 330 495 660 825 990 1160 1320 1490 1650
& - ouT 3120 624 936 1250 1560 1870 2180 2500 2810 3120
IN 2800 560 840 1120 1400 1680 1960 2240 2520 2800
80 05 ouT 5030 1010 1510 2010 2520 3020 3520 4020 4530 5030
IN 4540 908 1360 1820 2270 2720 3180 3630 4090 4540
9 - ouT 7850 1570 2360 3140 3930 4710 5500 6280 7070 7850
IN 7150 1430 2150 2860 3580 4290 5010 5720 6440 7150
i) BitHid 1(N)=E71(MPa)xZ EER(mm?),
JRE R (sazmesonmaR. )
(kg)
#I4%(mm) 20 25 32 40 50 63 80 100
HEAR 1.20 1.62 2.04 3.20 4.90 6.08 8.93 13.60
HAERE b B R B 1.44 1.88 2.44 3.72 5.95 7.32 11.04 16.67
prtit] 1.29 1.79 2.23 3.47 5.68 6.97 10.67 15.92
F50mmFTIE RGN R 8 0.06 0.08 0.09 0.15 0.22 0.25 0.35 0.51
1+ 7 5% 41: RHCL32-600
@5 R (5008t). ....... 244 (HIER 032)
@ HNR .. ...0.09kg/507752
O@SEITRE. .. ...6007772
2.44+0.09x (600-500) /50=2.62kg
Xt Ry 2SR IS {8 F B 2 51
OF T2, #E......20- R
MEMASER,
RHC #z7iHt
TC%E%'& (mm) ﬂ:ﬁﬁuﬁﬁgﬂ (mm)
30 R B MR B
d
, /AN /4
° I © \) ©
B B
ne BAE B c D d H ne c D d H
SOR-20 20 26 30 26 M22x1.5 8 NT-02 15 12.5 M8x1.25 5
SOR-25 25 32 36.9 32 M24x1.5 8 NT-03 19.6 16.5 M10x1.25 6
SOR-32 32 38 43.9 38 M30x1.5 9 NT-04 254 | 21.0 M14x1.5 8
SOR-40 40 41 47.3 41 M33x2.0 11 NT-05 31 26 M18x1.5 11
NT-08 37 31 M22x1.5 13
NT-10 473 | 39 M26x1.5 16

658




=

b

< RHC %7

oA ¥
IMNERSTE/ EAE
220~040
2xRc P
GA GB NN
I i) Bt — [ ma
i s L =
ey A & ,%
\d \d E
[ | | =
15 1.5
NE ) .L.‘ ‘.L gk |MACM
79%@@'5% A K| F_ |10l N Jc JD N |10 2xFL
NA H St+i51 F MHM
B WH 221558
(rnm)
fi@mm) | A | AL | B c D E F | FL |GA |[GB | H | Hi | H2
20 18 15.5 32 40.5 10 14.5 16 11.5 | 63.56 | 47.5 |44 5 8
25 22 19.5 36 45.5 12 18 16 11.5 | 56.5 | 49.5 |48 6 8
32 22 19.5 44 51.56 12 18 19 14.5 | b5 51.5 |51 6 9
40 24 21 5E] 61.5 16 20.5 21 16.5 | 56 51.5 | 54.5 8 1
w@mm) [ JC [ JD | K [ KA MM N [ NE | NA [ NF NN P s WH F73
20 43 30.5 | b 8 M8 x1.25 22 33.5 26 13 M22x1.5 1/4 192 252
25 39 25.5 5.6 10 MI10 x1.25 27 37 32 17 M24 x 1.5 1/4 |193 5.8~8.8 257
32 36 28.5 5.5 10 M10 x1.25 27 435 38 17 M30x 1.5 3/8 [195 265
40 32 23 7.5 14 M14 x 1.5 30 52.5 41 22 M33x2.0 3/8 [201.5 6.8~11.3 277
©50~2100
8xdJ EA
2xRc P |GA
. = i i
o o i : f —te
\\ = © ©
o © © [H -
EEFmEERE ], AL | 10
NE KA | A || klFa Jc Jc 10
LLNF,|
c H S+
B 2Z+ 471
(mm)
ETZ(mm) A AL B © D E EA | FA | GA | H
50 35 32 70 53 20 50% 052 62 23 16 80
63 35 32 80 60 20 55% 0 58 23 16 80
80 40 37 95 75 25 6550 61 23 20 30
100 40 37 16 90 30 8050 63 25 20 U5}
FL4Z(mm) H1 J Jc K KA MM NE | NF P s WH zz
50 1" M10x 1 58240520 75 7 18 M18x1.5 25 27 1/2 215 6.8~11.3 305
63 " M10x 154! 0 75 7 18 M18x 1.5 24.5 27 1/2 215 305
80 13 Mi2x 1 75525 78 10 22 M22x1.5 30.56 32 3/4 228 8.5~13.5 328
100 16 Mi2x 1. 75840825 80 10 26 M26 x1.5 34 A 3/4 236 341

659



RHC %5

SMERTE /(e i AR R

020~240
GA GB F
2xRc P
H : .
NN ] AL | |H2
MM H
L .
Z2) ' [ ] 0] (11 ]
fan) w n¢ i e _lé I _ _ &
Z| > =y gL A4 Y 4xoLD
5 o) B | | i
-
L] Bl ©)
‘ TT
ar
NF E E
NA 10N Jc JD N |10
LX Y| X S+17i X Y
Lz LS+ 1718
2Z+ 175
(mm)
G1%mm) | A |AL| D | E | F |GA|GB| H | Hi |H2 |JC|JD| K |KA|LD |LH
20 18 |15.5| 10 [14.5| 16 |535(475/44 | 5 | 8 | 43 [305|5 8| 7 |25
25 22 |195| 12 |18 | 16 |56.5/495(48 | 6 | 8 | 39 |255|55 | 10 | 7 | 28
32 22 [195| 12 |18 | 19 |55 |515|51 | 6 | 9 |36 |285|55| 10 | 7 |30
40 24 |21 | 16 [20.5| 21 |56 |51.5|545| 8 | 11 | 32 |23 |75 |14 | 9 | 35
#1#&(mm) | LS | LT | LX | LY | LZ MM N | NA | NE | NF NN P S WH X | Y |zz
20 232 | 65| 40 |41 | 55 | M8x1.25 | 22 | 26 [335| 13 | M22x15 1/4 192 20 | 9 |265
25 233 | 65| 40 |46.5| 55 | M10x1.25 | 27 | 32 |37 | 17 | M24x15 1/4 193 | 58-88 | 20 | 9 |270
32 241 |7 | 45 |53 | 60 | M10x1.25 | 27 | 38 |435| 17 | M30x15 38 195 23 | 9 |278
40 25157 | 55 |62 | 75 | M14x15 | 30 | 41 |525| 22 | M33x2.0 3/8  |2015] 6.8-11.3 | 25 | 11 | 292
250~0100
H EA
A _K_ FA|GA EA
AL GA| M
MM |_H1
] e I
7 T
¢ ; R ‘
o Im DI [ ] ,1
o > §® | 4xoLD
o 2 = g
<
® e 2 Pl .
e e ] L Jc Jc i
NF d
|NF_| ‘ vl x S+i31 x |y
LX E3sialor:d —
KA LS+1712
Lz -
22+ 78
(mm)
£142(mm) A|AL| B | C]| D E EA|FA|[GA| H | Hi [JC| K |KA | LD
50 35 | 32 | 70| 53 | 20 50%02 62 | 23 | 16 | 80 | 11 | 75 7 18] 11
63 35 | 32 | 80| 60 | 20 5507 58 | 23 | 16 | 80 | 11 | 75 7 18| 1
80 40 | 37 | 95| 75 | 25 65074 61 | 23 | 20 | 90 | 13 | 78 | 10 | 22 | 13
100 40 | 37 | 116 | 90 | 30 80%0r 63 | 25 | 20 | 95 | 16 | 80 | 10 | 26 | 13
FL4Z(mm) LH[LS [LT|LY [LX|[LZ| ™M MM NE | NF P S WH X |y |z
50 52 | 275 | 10 | 885| 53 | 73| 75| Misx15 |25 | 27 12 215 | 68-113 | 30 | 10 | 335
63 55 | 289 | 10 | 95 | 60 | 80 | 75| Misx15 |245] 27 1/2 215 37 | 10 | 342
80 65 | 308 | 12 |115 | 75 | 100 | 10 M22x1.5 | 305 | 32 3/4 208 | 85-135 | 40 | 13 | 371
100 80 | 330 | 14 139 | 90 | 118 | 10 M26x15 |34 | 41 3/4 236 47 | 13 | 391

660



SMERTE / FEZE
220~040

sz=a RHC %7

2xRc P
GA xhe GB
4xoFD
H2
um NN
H m Ma
I — T
D < Aﬁ\\ ] [] U] (11 s
3 > =5 & IR N N PN =
o & = @ A d 2|z
= “ [ \ \ P
o o8 @ RZQ
1.5
o ST
z |NE | Ka~ |-AL al MACM
NA A _K__F _[10 Jc JD FL|
B WH H S+15% F MHM
FX 22+ 58
Fz
(mm)
gEmm) | A [AL] B [ D] EJF[FL][F[FT[FX][FY [FW[FZ[GA[GB [ Hi | H2
20 18 [155] 32 [ 10 [145] 16 [115] 7 | 6 [ 51 | 21 | 38 | 68 [535]475] 5 | 8
25 22 [195] 36 [ 12 [18 [ 16 [115] 7 [ 9 | 53 [ 27 | 44 | 70 [565]495] 6 | 8
32 22 [195] 44 [ 12 [18 |19 [145] 7 | 9 |55 |33 | 50 | 72 [55 |515] 6 | o
40 24 [21 | 53 [ 16 [205] 21 [165] 9 [ 9 |66 [ 36 | 60 | 84 [56 |515] 8 | 11
sEmm) [ H [JC]D ][ K[KA] Mm N [ NA [NC [ NE [ NF NI NN P s WH 2z
20 44 | 43 [305] 5 8 | Mexios [ 22 | 26 [ 55 |335] 13 | 2338 [ meax1s 1/4 192 252
25 48 39 | 255 | 5.5 10 M10 x1.25 27 32 55 | 37 17 25:95% M24x1.5 1/4 193 5.8~8.8 257
32 51 | 36 |285| 55| 10 | M10x125 | 27 | 38 | 45 |435] 17 | 313% | M30x15 3/8 195 265
40 545] 32 [23 | 75 14 | M1axi5 [ 30 | 41 [ 45 [525] 22 | 34z [ m3sxe0 38 |2015] 68~113 | 277
250~2100
NE EA
4xoFD  NF, 2xRcP |GA
i =
z MM Hi ij
ST N s ; i
R @ 1 + =l ‘ t
i L
f
2z I —ola o - "
| ’g Py é
) = °
777777777 7
c kH5mEEEE |, AL FT
B KA | A K|_FA Jc Jc 10
FX H S+
Fz 22+ 15812
(mm)
G@&mm) | A [AL| B | C | D E EA | FA | FD | FT | FW | FX
50 a5 | a3 | 70| 53 | 20 50,50 62 | 23 | 11 [ 15 | 78| 9
63 35 | 3 | 8 | 60 | 20 55 507 58 | 23 | 11 | 15 | 84 | 104
80 20 | 37 | 95| 75 [ 25 65.50m 61 | 23 | 13 | 18 | 106 | 130
100 20 | 37 [ 116 | 90 | =0 80.5urs 63 | 25 | 13 [ 20 | 120 | 145
GfEmm) | FY | FZ [GA | H | Hi | JC | K | KA MM NE | NF P s WH 7z
50 53 116 16 80 11 75 7 18 M18x1.5 25 27 1/2 215 6.8~11.3 305
63 60 124 16 80 11 75 7 18 M18x1.5 245 27 1/2 215 305
80 75 | 155 | 20 | 90 | 13 [ 78 | 10 | 22 | Me2x15 [ 305 | 32 3/4 208 | 85-135 | 328
100 90 172 20 95 16 80 10 26 M26x1.5 34 41 3/4 236 341

661



RHC %5

SMERSTE /AL =R

220~040
NN 2xRc P G FZ
N GA B
HIHNF 4xoFD FX
H1
MM R |
A T i npe AiQ}Z?ﬁFiﬁ{}
X
2| ol ol Iy [ & w  =[>
% Z| oy LI ¥ ol ¥ H z o & J/
= ‘ | & <
C )
15
. LS
HEERR | || BT Le ] g NA
A _KF 10 N Jc JD 10 [FT|He) WH B
H S+178 F
2Z+ 58
(mm)
EI4Z(mm) A AL B C D E F FL | FD | FT | FX | FY |FW | FZ | GA | GB | H1 H2
20 18 | 155 | 32 |405| 10 |145| 16 | 115 7 6 51 21 38 68 | 53.5 | 47.5 5 8
25 22 |195| 36 |455| 12 |18 16 | 11.5 7 9 53 27 44 70 | 56.5 | 49.5 6 8
32 22 |195| 44 |515| 12 |18 19 | 145 7 9 55 33 50 72 | 55 51.5 6 9
40 24 | 21 53 |615| 16 | 205 | 21 | 165 &) &) 66 36 60 84 | 56 51.5 8 11
EI4Z(mm) H JC | JD K KA MM N NA | NB | NC | NE | NF NI NN P S WH Y44
20 44 43 |305| 5 8 M8x1.25 22 26 | 30 55 | 335| 13 23398 M22x1.5 1/4 | 192 252
25 48 39 |255| 55 10 M10 x1.25 27 32 |36.9| 55 |37 17 2535 M24x1.5 1/4 | 193 5.8~8.8 257
32 51 36 |285| 55 10 M10 x1.25 27 38 |43.9| 45 |435| 17 3150 M30x1.5 3/8 | 195 265
40 545 | 32 |23 7.5 14 M14 x1.5 30 41 473 | 45 | 525 | 22 3456 M33x2.0 3/8 | 2015 | 6.8~11.3 277
250~2100
EA EA
XHHNF GA
MM\ _H1 Ji,
I
\ i ‘
o T - 3
*EEEE /[, AL |10 |
KA A K| FA JC JC B
S+17%# FT FX
22+ {712 Fz
(mm)
112 (mm) A AL B [+ D E EA FA FD FT FwW FX FY
50 35 32 70 53 20 50-0s 62 23 1" 15 78 96 53
63 35 32 80 60 20 55 o7 58 23 11 15 84 104 60
80 40 37 95 75 25 650074 61 23 13 18 106 130 75
100 40 37 116 90 30 80074 63 25 13 20 120 145 90
£T4Z(mm) FZ | GA H H1 Jc K KA MM NE | NF P s WH 2z
50 116 16 80 1 75 7 18 M18x1.5 25 27 1/2 215 6.8~11.3 310
63 124 16 80 1 75 7 18 M18x1.5 24.5 27 1/2 215 310
80 155 20 90 13 78 10 22 M22x1.5 30.5 32 3/4 228 8.5~13.5 336
100 172 20 95 16 80 10 26 M26x1.5 34 41 3/4 236 351

662



